mean # PXL hits vs eta

<pixel hits>

.....................................................................

.....................................................................

.....................................................................

.....................................................................

Ratio

=

=
e
[F

0.95

w

N ]

| mean # PXL Layers with measurement vs eta

<pixel layers>
N

N

N U w N U

=
o
[

R

.....................................................................

.....................................................................

o

REMT_TTorgimal
kFit_TToriginal-106

meal

n # STRIP hits | kFit_TTNE

VT
M”m
M_mKkEi 5
M”mKEit_TTNEWHSMS95
M~ mKkFit " TTNEWHSMS95

14

<strip hits>

12

10

..........................

0.95

w IIII!IIII!IIII

<strip layers>

..........................

......




	Contents
	Page 1


